(2012-2014 ‘,f“{u:w) ((_/4::;"/1;,3/4 T ﬁ‘;du
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(PART 1 s/ > )

12 2. Write short answers to any SIX (6) questions : : @’@yzﬁ”‘ Z elly (6)4’;(}/ 2
() Solve x* —x_20=g¢ by factorization, ESUF 2 ¥ —x—20=0 ()
(i) Define quadratic equation. E oy U e hlsEos (i)

(iii) Find the discriminant of x2 — 3y 4 3= 0 -’_ér}”‘axi@/'K ¥ —3x+3=0 (ii)
—\9 ——\9
(iv) Evaluate - (%J + (—] _?\/_J) grkawf (iv)
(v) Prove that each complex -d¢.t'nu',~§"b/¢./uJu@&b/jv{!/;{&ﬁf"é:qb’ v)
cube root of unity is reciprocal of the other.
(vi) Form a quadratic equation with roots — ¢ and2. _Us2 -6/ Ll b lslaGin (vi)

(vii) Define direct variation. -Z:._éf/jd::/iz/.:g (vii)
SR AT K 15 g s (viii)
AL ST N PPAIT I542s560 =ASSEASE T S ()
(ix) Find the cost of 15kg of sugar, if 7 kg of sugar costs 560 rupees. }
12 3. Write short answers to any SIX (6) questions : : é.:«&l;?/? L i (6)4:’.3:’/ 3
(i) Define partial fraction and give one example. -0 JEo Lzt _y P&z ()

2 st
n . . = Ax— 1
(i) Convert into proper fraction : o =

5 P ZEUL o G)
X" —x+1
oo - 3
(i) Define bijective function and give s -Zf:;d’{dt‘?b{mté._gfd/fw::"fdg (i)
one example.
(iv) Show A U (BUC)by Venn diagram.

(viii) Find fourth proportional of 5, § and 15.

‘éﬂtﬁc_ﬂ/@lﬁ’q’;[Au(BuC) Giv)
_g('y""RangeRMDomR;Rz{(2,4),(3,6),(4,8)} S (v

1(2ﬁ4),(3,6),(4,8)}thenﬁnd DomRandRangeR?

-’c_{pb’.;fJAu(BmC)? Cmt 15,810} »Be

V) If R=

{14,710} A={1,3,5,7,9} /7 ()
Vi) If A=141,3,5, 7.9} ,B={1,4,7, 10} and C= {1, 5,8, 10} then fi

nd the value of A U(BnNC)
(vii) Define mode and range.

_é_@/‘.'."d/&/”"/}’a)k (vii)

= Z -~ / e
(viii) Find the harmonic mean for data - 12,5,8.4 z é{’#ﬁ/ﬂv@’ﬂ#ﬂy (viii)
(ix) Define measurement of central _éftiuy’g»Lgu,:’z‘{_g/"d/;géu@/df/ (ix)
tendency and write two measures of it. )
12 4. Write short answers to any SIX (6) questions : : &7..:4;!.-?/3 L ey (6)z2=35 4

-5 60° i i 716 1 ek Sk 06

(i) Find the area of the sector of a circle of radius 16 cm if the angle at the centre is 60°.
(i) Prove that - sin’ @ = sin@ - sinOcos? @ LSSl Gi)
J&Gui'd‘tﬁ(}yfbfl/secz x -1 Gii)

(iii) Simplify to a single trigonometric function sec? x — |

(él&/ﬁ )



)

4. (iv) Define a circle. -2{4}&/’!; Gv) -4
_é_,g/'ﬂf}?&/_/’u V)
-é.,;u}&;v Ly (v
2y A 5sSss SBU (viD)
(viii) Define a circum angle.

L s (viid)
(ix) Define the Geometry. -éuy...y /7 S22 (i

(v) Define the sector of a circle.
(vi) Define tangent to a circle.

(vii) Define cyclic quadrilateral.

( PART-II f’»,ﬁ )

Note : Attempt THREE questions in all. ..4"..(5)!) 9 /dfru’? -éé"t."ﬁé""m”w‘f: !
But question No.9 is Compulsory.

5.-(a) Solve the equation by completing square : 3x2+7x=0 : &= FQ /Jf{ 2k (9) s
-2?:((;5”:;&{ (x3ﬁ2 £ a2ﬂ3 ?u;fuju[, I+ mx+n=0 (£#£0) =blsBca Ji L)

(b) If a and B are the roots of the equation #x%+ mx + n=0 (£ % 0) then find
the value of a3,b’2 + a2ﬂ3 _
a_.a%b_ ¢ .c*d g biab=cid (ab,c,d20) S O) 6
a-b b c—d d

= . » » d
6. (a) Ifa:b=c:d(a,b,c,d#0)then prove that = :a+b= s
a-b b c—d d
5

3 5
X . . . 2 X
(b) Resolve E—z——l)—; into partial fractions. ,zf{d:‘{u:w/wzf e
x" +1)"

| (x% +1)2 )
AUB=BUAZ =t LB AU (D) 7
UB=BUA

: gf&*d/td;lf»),@um:&:}y $dF f_.f_,Jj;'@uéL/’Jw;“{:w;' G
éu 20-22 23-25 126-28 |29-31 32-34

-
7. (a) For any two sets A and B prove that A

i 3 6 L2 9 2

(b)

The length of 32 items are given below, find the mean length and standard
deviation of the distribution :

Length 20-22 |23-25 [26-28 129-31 [32-34
Frequency 3 6 12 9 2
- ..’éfi:pl”(}‘&jm;&u-dc, 5" u""_,_,:l)(@/r.?c‘:./"'f 40 ,:Lfb/.:ﬁz)vgl (%) 8

8. (a) A tree casts a 40 meter shadow when the angle of elevation of the sum is 25°.
Find the height of the tree.

'?JVJ;}’)LU'—U.?f}S /}le.S JIJJLUJ//DL)?Z./‘,/» (u)

(b) Draw two common tangents to two touching circles of radii 2.5 cm and 3.5 cm.

_r‘.;,t‘ﬁ»f/,:hb;gﬂbi,//bﬁg‘;d/(n;ﬁﬁ )/“;J(c.f/éz_/’ufém‘ 9
9. Prove that a straight line drawn from the centre of a circle to bisect a chord ( which is
not a diameter ) is perpendicular to the chord.
OR L

Prove that the opposite angles of -t (S F0¥ & sl bG> LJ/);‘J:/’DJ 4_,/’1:6( S
any quadrilateral inscribed in a circle are supplementary.
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